2 SET -1

HIS .
Series : BVM/1 Code No. 64/1/1
T . Tliegreff shie ohl IT-GETHI & TE-T3
Roll No. ST e |

Candidates must write the Code on
the title page of the answer-book.

o ST S L Toh 30 ToA-vA H Hfgd Uss 12 8 971 2 IS WARA £ |

o - 1 gife 811 3l 3R T T h1E TR ohi B I -JETeh! o TE-T8 W o |

o FHUA A W foh 3 IHA-TA H 22 A F |

o  HUAT Y I IR foTEHT & H & U8, Te 1 hHh a9y ford |

® 3T YIH-TA I UG o 7T 15 Tiree o1 o T Mo & | wed - o T q@ie § 10.15 s
ToRaIT ST@ | 10.15 S 8 10.30 991 Ak BT shael Y- ol U 3R 30 3G o SRE o
II-YGThT T HIE IR &I fora |

e Please check that this question paper contains 12 printed pages and 2 pages of maps.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 22 questions.
e Please write down the Serial Number of the question before attempting it.

e 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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T few
(i) FTIH-TTHFAT 22 F97F |
(i) G 7T A E |
(iii) FoT-T&IT 1 & 7 T 31a TG IT09 397 8 | I J97 1 37 BT & | Feie J97 BT FX
40 =57 @ 371 7 5T =R |

(iv) FoT-T&T 8 & 13 7% T I J97 8 | I J97 3 3% & 8 | AP Fo7 & I
80 - 100 v1=51 @ 37fer 787 817 =1fea |

(v) FET-GEIT 14 & 20 7% G5 3T 97 8 | FF J97 5 3% BT 8 | T Jo BT I
150 5r5) & 37feres 757 87 =18 |

i) FIH-GEIT 21 G STV Bl TEEI T 37 71 [ored @ Tald & | 397 91 22
YIiferas e 1 [RIT %1 37 g1 @ g9 @ Fafera & | I 397 5 3% BT 8 |

(vii) 3191 13T T GGR 74T YRA & IGT-TTI7] Bl ITR-YIeiehT & T HaoT # |
(viii) IGT-THITA] & 3G @ 1070 RIHT I7 2FqeIgd & ITIT 1 31T & Trdt & 1

General Instructions :
(i)  There are 22 questions in all.
(ii)  All questions are compulsory.

(iii) Question numbers 1 to 7 are very short answer questions carrying 1 mark each.
Answer to each of these questions should not exceed 40 words.

(iv) Question numbers 8 to 13 are short answer questions carrying 3 marks each.
Answer to each of these questions should not exceed 80-100 words.

(v)  Question numbers 14 to 20 are long answer questions carrying 5 marks each.
Answer to each of these questions should not exceed 150 words.

(vi)  Question numbers 21 and 22 are related to identification and locating and labelling
of geographical features on maps, carrying § marks each.

(vii) Outline maps of the World and India provided to you must be attached within your
answer-book.

(viii) Use of templates or stencils for drawing outline maps is allowed.
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Qg - %
Section — A

1. “H78RAr vee <hi uiedmsT feafau | 1
AUl
‘3T T 315 <t R faifaw |

Define the term ‘literacy’.

OR

Define the term ‘Age Structure’.

2. ‘gfg 3R Taepd’ # 3w T i | 1

Differentiate between ‘Growth’ and ‘Development’.

[ 3, “3rhig Tave @ 31 fefa | 1

Write the meaning of ‘digital divide’.

4. R 6 geg-Tafee yomeht 6 foheel g et o1 Seorw HifT | Vit =1

Mention any two problems of barter system of trade.

5. 9Rd H THIOT & | TR-&E1 | TN o yary o o sl i g ¢ 1
YT

WA | TTHIOT &1 | TTHIOT &1 4 TEri o1 o esi § 3ffeeh i @ 7

Explain why male migration is higher than females from rural to urban areas in India.

OR

g Explain why female migration is higher from rural to rural areas in India.
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6. =AYl ST GUGY o Hgcd <h! U@ shifu | 1

xamine the importance of ‘rain water harvesting’.
E th t fe ter h t i

7. 9RA H TR SRS T TR SHE i @ 7 T R 0 I | 1
YT
WA H ST~ 1G0T Ueh TTHIL Fe] 1 8 ? Teh 01 T8 HifT |
Why is urban waste a serious problem in India ? Explain one reason.

OR

Why is air pollution a serious problem in India ? Explain one reason.

Qg -9

Section — B

L 8. “iifoss qaferr e g 98 TR W ufafdd fear w2, @ & e Shew v ot ged

TuTferd foram 8 17 38 e hi e hifv | 3

“Physical environment has been greatly modified by human beings, it has also, in turn

impacted human lives.” Explain the statement.

9. feumu i@ 1 ArEyHIgES e Hife 3T 3ueh Fie o o et sm e 1+2=3

(9.1) 3@ T fe@me =, urior st S Ufawy 6t gg= hifse 3R 3HehT AW faRay |
(9.2) 38 YR o UTHIOT &t % Sfeey 6t fopdl g1 feriwanat <t sxmen il |

YT
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feu e 3 w1 AEEigEeS 31 R 3R 3ush T fiu ey B s ffar: 1+2=3

(9.1) 3@ ¥ fe@m T, wmfiv st % gfaey S ugee S 3R 3gew M fofau |

(9.2) 39 TR o UTHI0T st o Ufaey <h foregl g1 fersranadt <t samen hifs |

Study the given diagram carefully and answer the questions that follow :

(9.1) Identify and name the pattern of rural settlement shown in the diagram.
(9.2) Explain any two characteristics of this type of pattern of rural settlement.
OR

Study the given diagram carefully and answer the questions that follow :

9 (9.1) Identify and name the pattern of rural settlement shown in the diagram.

(9.2) Explain any two characteristics of this type of rural settlement.
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Aie : FfTRad e herer gRaTera wEmRIE o foTe e J 9 o TH W 3 -
TEd S 31 Sehivt sfen i ol i forsiwanat o1 aui hif | 1x3=3

Note : The following question is for the Visually Impaired Candidates only in lieu
of Q. No.9:

Describe any three characteristics of Compact type of settlements or Dispersed type of
settlements.

10. =9 & 78 aiferent &1 31emeE Hifve st g MR fev Ui s faflge: 1+1+1=3

W & Geh g &L, 1901 — 2011

64/1/1

e *
ST o A TGS
e v e H %
1901 238396327
1911 252093390 (+) 13697063 (+) 5.75
1921 251321213 (=) 772117 (-)0.31
1931 278977238 (+) 27656025 (+) 11.60
1941 318660580 (+) 39683342 (+) 14.22
1951 361088090 (+) 42420485 (+) 13.31
1961 439234771 (+) 77682873 (+) 21.51
1971 548159652 (+) 108924881 (+) 24.80
1981 683329097 (+) 135169445 (+) 24.66
1991 846302688 (+) 162973591 (+) 23.85
2001 1028610328 (+) 182307640 (+)21.54
2011%* 1210193422 (+) 181583094 (+) 17.64
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(10.1) 9 ©T Tk TG 1 gfg g hl FohRIcHes Tt i fe@mar & ?

(10.2) Toredf St qarent 1 Seor@ shifse, T8 qurehia gfg i g 1 war frdt yafa &
9 | fe@mn T g |

(10.3) SEEA1 9§ G h! Ted! Fafd o Foh=al QI ShRUTl shi ST HITT |

Study the following table and answer the questions that follow :

Decadal Growth Rates in India, 1901 — 2011

Growth Rate*
Census Years | Total Population
Absolute Number | % of Growth
1901 238396327
1911 252093390 (+) 13697063 (+)5.75
1921 251321213 (-) 772117 (-) 0.31
1931 278977238 (+) 27656025 (+) 11.60
1941 318660580 (+) 39683342 (+) 14.22
1951 361088090 (+) 42420485 (+) 13.31
1961 439234771 (+) 77682873 (+)21.51
1971 548159652 (+) 108924881 (+) 24.80
1981 683329097 (+) 135169445 (+) 24.66
1991 846302688 (+) 162973591 (+) 23.85
2001 1028610328 (+) 182307640 (+)21.54
2011%* 1210193422 (+) 181583094 (+) 17.64

(10.1) Which decade has shown the negative trend of growth rate of population ?

(10.2) Mention any two decades in which the percentage decadal growth has shown

the regular downward trend.

(10.3) Explain any two reasons for the declining trend in the population growth rate.
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e : Frfafad e e gfEaTiim adenkiE & i e d@n 10 F M W R
A H SHEEAT ! didl gg o foTe Iaarll fohmal e Shiehi <h! STEaT T | 1x3=3

Note : The following question is for the Visually Impaired Candidates only in lieu
of Q. No. 10:

Explain any three factors responsible for the rapid growth of population in India.

11.  “foenra = for) Y oramerciia o TweT w0 1 SHEEAT 3T GE19AT & o9 99dT sA1C
TG 2 |7 39 Y i =AIETd 38T | 3

“The prime task before any development activity in India is to maintain parity between

population and resources.” Justify the statement.

D12, R 3 fordeft s 3 Herer # W) Wi 3 we 1 v i | 3

9 Describe the importance of sea routes in handling India’s foreign trade.

L 13, TqHdT o S1€ WA § TRIT o T 6hl 7@ Hifey | 3
YT

“qd H TRI T T THTRTIEeh il § 371 & |7 T I |

Examine the level of urbanisation in India after independence.

OR

“Towns flourished since prehistoric times in India.” Examine.

g — T
Section — C
P14, SFEEAT S B ol IR fAET | GER o e o ot sl guiied i ol T
IR WITi{eTeh SHTehT ShT SATEAT HIRTT | 1+4=5

Define the term ‘density of population’. Elaborate any four geographical factors that
influence the distribution of population in the world.

D15, TERE o gIEmer 6 e ue st s avi iR | 1x5=5

Describe any five characteristics of ‘Pastoral Nomadism’ in the world.
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16. TERH ‘I= Mefirehl 3an’ <6 foregl ai= fomrwanati <hi samen hifse |

HERH ‘oS YA o ITNT s Tebgl wisl fereoeiadi shl e shifor |

Explain any five characteristics of ‘high tech industry’ in the world.

Explain any five characteristics of ‘large scale manufacturing’ in the world.

OR

YT

1x5=5

17.  ONEE |16 o &9 H UI3eTEAl ohl HEdl o foheg| uid g3t 1 foreyur Hhig | 1x5=5

18.

19.

F64/1/1

YT

ST STHTT <5 ot ohl THTfad i aTel fohmal 19 ShTteh shl ST <hIfT | Te
SATEh STAHT o Hawd ol T8 HIfY |

Analyse any five points of importance of ‘pipelines’ as means of transportation.

OR

3+2=5

Analyse the three factors that affect the development of inland waterways. Explain the

significance of Rhine inland waterways.

“Srfafird wgg SR = 3careshal YRR Y 6l e THed § |7 39 SUA Sl yEi
HITSTT |

“‘Erratic monsoon’ and °‘low productivity’ are the major problems of Indian

agriculture.” Substantiate the statement.

2% +2»n =5

et 3TN Je’ < foehTe § TETeh §U, ShIhi <hl ICTETN Tfgd ST HIfT | 5

YAl

Yrarg-qul s Y o forehTel | HeTIeh §U, hehi sh! 3gTEL0T Hfgd STl HifT |

Explain with examples, the factors that helped in the development of ‘Hugli industrial

region’.

OR

Explain with examples, the factors that helped in the development of ‘Mumbai-Pune

industrial region’.
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20. “YRd 1 TSk A, THR o fITeAdq Tgeh STl § 8 Th 2 |7 ISTe0ll Gfed 39 A h
g% hifT | 1x 5=5

“India has one of the largest network of roads in the world.” Support the statement
with examples.

21. HER o feu mu gerHifaes -t | ui Simfeis @& & A, B, C, D 31 E 9 fe@rn
T 8, 3Toh! T89H shifSTT 3R I Tt AW F=feiigd SHepit bt Heg & I9eh e Eisht
g T3l W fefign 5x1=5
(A) 3iEnfie yem
(B) @ WY I
(C) URWETEI {eTHT <1 R o1 =
(D) ST=RIYR gas -
(E) @ f&d

Identify the five geographical features shown on the given political outline map of the
world as A, B, C, D and E. Write their correct names on the lines drawn near them
with the help of the following information :

(A) An industrial region

(B) A major seaport

(C) The terminal station of a transcontinental railway
(D) An international airport

(E) A mega city

Fe: Frefefaa v Faa gianfa st < fore, T g 21 F A WE: 5x1=5
(21.1) HIF TS IR (J,T0H.T. ) o fonsll T Sfienfies geu o1 4 feaRaw |

(21.2) et = foreft wep Tg@ At ao+ o1 T fafaw |

(21.3) 3rteferns urweTdidi Yemmt % goff fR & wvm w1 am fafe |

(21.4) T8 % fhH) Tk FUT a8 -9 ol A fIRIT |

(21.5) Trefidi=a o am fodt o1 am fafaw |
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Note : The following questions are for the Visually Impaired Candidates only, in lieu
of Q. No. 21:

(21.1) Name any one industrial region of U.S.A.

(21.2) Name any one major seaport of Chile.

(21.3) Name the eastern terminal station of Australian transcontinental railway.
(21.4) Name any one international airport of France.

(21.5) Name the mega city of Philippines.

22. WRA % feu MU Tt T@r-amtas # ol ute diiferes @eavit o1 Suah fogl @ guiise
ﬁ@%m%’?@’r{ 5x1=5

(22.1) TR T GeT= LM 16T TS |

(22.2) &A1 1 UM IATGH T |

(22.3) EHATON § T N HRGHT |

(22.4) FATECE TShTER (I,%.) & TEANT & LA LITd T |
(22.5) IHH T IAUTH eTS-TTH |

(22.6) e ¥ U@ TS U |

(22.7) IWR-AT (A7 %) T AUSH 1 TEATH |

(22.8) Tom HFen @=

Locate and label any five of the following geographical features with appropriate

symbols on the political outline map of India :

(22.1) The state with highest level of urbanization.

(22.2) The leading state in the production of coffee.
(22.3) An oil refinery in Haryana.

: (22.4) The steel plant setup in collaboration with U.K.
(22.5) An international airport in Assam.

(22.6) The major seaport in Odisha.

(22.7) The Headquarters of North-Eastern Railway.

(22.8) Singareni coal mines.

L 64/1/1 11 g%% P.T.O.



frferfiaa soa hae gfeantea wiefeR o foru, soa T@ 22 % TH W 8. FiE e oA
FARHE 5x1=5

(22.1) YR ST I G TS TN T Fere T 1ol & 2

(22.2) YR 1 I G T HadT T T[T IITEH 8 2

(22.3) i § fra 9t e @ 1 AW faiEu |

(22.4) T3S TohTER (.. ) < TEANT § WRA | TATTUT LA I T A4 fARIT |
(22.5) 31Em H fyd =T gag-u<a o1 T ffau |

(22.6) 3ifeen 4 ferd yg@ gt -va- o1 9 fafaw |

(22.7) IR (A7 $EeH) I AUSHA h AT 1 A TIRaT |

(22.8) dftrerTg H foreh T @ wigel A @M 1 A fafe |

The following questions are for the Visually Impaired Candidates only in lieu of Q. No. 22 :

Attempt any five questions :

(22.1) Which state of India has the highest level of urbanization ?

(22.2) Which state of India is the leading producer of coffee ?
(22.3) Name the oil refinery located in Haryana.

(22.4) Name the steel plant setup in India with collaboration of U.K.
(22.5) Name an international airport in Assam.

(22.6) Name the major seaport located in Odisha.

(22.7) Name the headquarters of North-Eastern Railway.

(22.8) Name any one major coal mines in Tamil Nadu.
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U9 9, 21 & fore e
Map for Q. No. 21

WORLD: Qutline
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v H. 22 @& fou AEfes
Map for Q. No. 22

WA SR T@T- AT (TS Th)
QOutline Map of India (Political)
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